REPRODUCTIVE SYSTEM- SEXUAL AND ASEXUAL, HUMAN REPRODUCTION/

1.Asexual reproduction differs from sexual reproduction in that in asexual reproduction-

TS U AN Ui & O Ui & e el 8-

(a) The gametes are produced in reproduction. / gra& Uoi= # fafifa g1 &1

(b) The off springs show variations. / Ta fawaTq fazara |

(e) The new organisms are genetically identical to parent. / 7T Sfia 31df® ¥a & ATAT-fUar & w0 &l
(d) The nuclei of gametes fuse. / TS & TP TS & 114 8

2. Which of the following undergoes binary fission?/ fRafafda & & &t ar fgamumd favdsT & orar &2
a) Amoeba/ 3rfiaT
)

b) Hydra/ g18gr
) Yeast/ de
d) Ring worm/ aig

“-3-5-3

Parent amoeba Elongation of Division of Two daughter
nucleus nucleus and cells
cytoplasm

3. What does the following image depict?/ fRafafad sf Far gerfd 82

Zoospores

Parent cell
(Zoosporangium)

a) Buds in yeast/ @HR # aifad

b) Zoospores in Chlamydomonas/ THHATEEENT H SR

c) Conidia in Penicillium/ 3fRfafaaa & siRfzar

d) multiple fission in plasmodium / TTeHIfSTH # TaTas fadsT

Chlamydomonas form 2-16 daughter cells by simple mitotic division. The daughter cells grow their own cell wall
and flagella. These daughter cells are known as zoospores. The zoosporangium or the parent cell ruptures to
release the daughter cells that grow into separate individual cells.

FOATSSIHIT TR ATSCIfed fAUTSH gRT 2-16 I BT T Fmfor dwer &1 Tl FAPTE ot w9 Ht ST ey sk
FHATUST BT BT 81 7 oAl PIAPTT FT ARG P A7 F JHT AT 8| FRARTIH AT HA HITRAPT TeaR ST PIADTSAT
HY Geh R AdT & Y STT- AT st Bt # fAasfaa g areh €
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4. Consider the following statements/ fgfafRad doHl W fawR oY

1. Fragmentation is the common method of reproduction in algae, fungi and lichens. / fa@s gare, Fas 3R
WATEH # o &t AT fafer @

2. Organisms which reproduce by fission are yeast and bacteria. / S Sfia fardsT gRT o= &=d €, T @HR 3R
AT e 2

3. Reproduction by budding occurs in yeasts. / |@HR & Taifad gRT Ui &t &1

Which of the statements given above are correct about asexual reproduction / W U T =1 & T S AT
A o fafdet & e & wér &2

methods?

(a)1,2and 3

(b) 1and 2

(c)1and 3

(d) None of the above

Parent Forming
yeast cell of bud Cytoplasm divides

Nucleus Bud with Daughter yeast
nucleus
Chain of yeast
cells formed
Parent yeast
(a) (b) (c) (d)

Binary fission, also known as asexual reproduction, occurs in unicellular organisms like Amoeba, Paramecium,
and Leishmania.

Yeast is a single-celled organism that reproduces mostly by budding. In yeast, asexual reproduction occurs
through budding; however, certain yeast species also reproduce through binary fission.

famend favde, O seifes wor & ¥ & oft ST ST 2, sreftar, Refifdme ik eferdfar S veaifadiy shiat & gar &
fe TP THe-HIAST AT 5119 & ST 31fASeR T B1a Tor awelm 81 fiwe &, reifiies wor Taifed & mrery d €iar €
BTciteh, $& dRe yaTfaat fganamt fardsT & Aregd § Y wore ot &

6. Match List-I (Vegetative Propagation Type) with List-Il (Example) / F=- Il (IgTern) & T -1 (@7xafa 7R

UHR) FT e o 3k gioat &
List-I List-11

A. Tuber eye / &g 3@ 1. Garlic / &g+
B. Bulb / §c8 2. Rose / [dE
C. Cutting / ®TeAT 3. Potato / 31Te],
D. plantlets at margins of leaves 4. Bryophyllum / STaftserd
/ ufedt & fFRT w dte

ABCD
(a)4312

(b)3124
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(c)1243
(d)2431

Bryophyllum, also known as air plants, reproduce asexually through vegetative proliferation of its leaves. The
leaves of Bryophyllum have notches along their edges, where buds (notches) emerge. These buds are called
epiphyllous/

Srftherw, R arg ulel & w0 & off ST ST €, 310t ufvrat & amwfae TR & Trerd § STaie §9 A Yo R Bl
T ther & Uferdt & fhRl W Wi B &, G@Tﬁﬁﬁpﬁ (@) Rt ¥ 57 Bfaal o) TeEAT Sar ST 2.

Germinating Nodes

Eye Buds o \ ) .\\’&‘)’N Buds
2 9},

Adventitious
) Root

Buds

(© )]

7. Match List-l with List-1l and select the correct answer / Jt- || & 912 TT- | &1 Hed™ B2

List-I List-lI

A. Androecium /ggrufras 1. Female reproductive organ/ HfgeT Usi= 31T
B. Gynoecium /=i 2. Male reproductive organ / wR US[H+ 3T
C. Stamen / &89 3. Unit of androecium / &R
D. Carpel /&Tdd 4. Unit of gynoecium / TSR

ABCD
(a)2134
(b)1342
(c)3421
(d)a213

8. Match List-1 with List-1l and select the correct answer using the codes given below the lists. / F=i- || & AT
- | &7 e ¥ 3R gfagt & i fow e e &1 IumhT wd TE W A

List-I List-11
1. Pollination by animals/ STFaRT gRT WRITOT A. Zoophily /<fthett
2. Pollination by birds /aférat gRT WO B. Ornithophily/ STfFeifthett
3. Pollination by water/dTt gRT W07 C. Cheiropterophily/ STeIRI et

4. Pollination by bat / &€ gRT WRTTOT D. Hydrophily/ gTegifisett
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ABCD
(a)1243

(b)2431

(c)a312

(d)3124

9. How does a starfish reproduce?/ aRTABET $& U aRdt 87
a) Lays eggs/ 33 &t &

b) Budding/ =aifaa

c) Binary fission/ fgzft fawusa

d) Fragmentation/ fazds

Starfish is a bisexual organism and asexually it can divide by binary fission and regeneration.

TR Ta Iuafatht Sha & wrfther fgamemdt fards 3k gaoiaa & arend & sraiffies ¥0 F U= @t 2

10. How are male honey bees born?/ TR Teafaaat && der g1d) &7
a) Parthenogenesis/ 38 T4

b) Fragmentation/ fazds

) Eggs/ 3t

) Spores/ SISATUL3AT

C
d

11.What is sexual reproduction?/ @i Usia auT 82

a) Fusion of male and female gamete/ TR 3fR HTeT A T Herd-

b) Fusion of male and male gamete/ TR 3R TR JrAd T HaaT

c) Fusion of female and female gamete/ HTaT Td ATET THS T Hedd
d) Either a male or a female gamete/ IT &Y =R AT HIGT JTHSD

12. What is phase when the organism is old enough to reproduce known as?/ 5§ Sftg Usi= & fotw gt ger 8t
SITaT & Y 3X T e §2

a) Juvenile phase/ f&aiR srazer

b) Vegetative phase/ a-ufd srawar

c) Senescence/ ardeq

d) Reproductive phase/ U= 3raRT

The phase when it is growing is known as the juvenile phase or the vegetative phase (in plants). The phase
after that when the reproductive organs in the organism matures is known as the reproductive phase.
Senescence is the phase when the plant starts deteriorating as it grows old and finally dies.

There are 3 phases in a life cycle.

i. Juvenile phase/ vegetative phase: period from birth to maturation of reproductive systems.

ii. Reproductive phase: period when the reproductive systems have matured and ready to produce offspring.
iii. Senescence: period when the organism starts growing old and starts degrading.



REPRODUCTIVE SYSTEM- SEXUAL AND ASEXUAL, HUMAN REPRODUCTION/

9E TRUT 519 UE §¢ 38T e1dT & 34 ek =Ror a7 agfa =Ror (G &) & 0 & 1 ST 21 39S 1€ H7 =R 519 g § Toia
3T gRuaa g SITd € IV U TRUT Gl SITaT &1 §gTUT 9 RO § ST UTeT g7 & & TT-TT RS g4 avrar & 3R sfdd: W
ST &
Sia =% # 3 WU & &

i. fFLR TRUT/aT A TROT: S T AIR UST- TUTTT &I TRuaadr d@ &t safd|

i fedilg. worae wRun: 98 3afd 9 U voiTet uRued gY STt § 3k Tam deT ek & fw duR 8 S 8

ii. SRT: 98 3afY J9 S qeT 14 7T & 3R T & o 21

13. What are the 2 main pre fertilization events?/ 8= gd & €1 Te7 Te-Td a7 &7
a) Gamete transfer and fertilization/ g WHiaRoT 3R s

b) Gamete transfer and gametogenesis/ ZrHa IATATRUT 3R GBI

c) Gametogenesis and fertilization/ gra@s+ 3R fAv<

d) Gametogenesis and cell division/ g 3R HIAST fFuTe

Sexual reproduction is the fusion of the male and the female gamete that forms a single celled zygote, the

process is known as fertilization.

This process has been divided into 3 events. The pre-fertilization, fertilization and post-fertilization events.
AN TS R 3R AT TS BT AT & ST T Udel DIAST ISl §1dT &, T Uiohar &) 8w & 9 & 1 S1eT 21
3 TIfehar &Y 3 HedTslt # favifora favar mar 81 fitaw & v, fdem afk fdaw & a1e &1 weg)

14. Which of the following is an example of a unisexual organism?/ fafafad & @ &7 a1 wafaift Sfia &1 IamEror 82
a) Earthworm/ dat

b) Cockroach/ fder=rgr

c) Tapeworm/ Hidr A

d) Leech/ Sii®

Cockroach is an example of a unisexual organism, which means it can produce only one type of gamete, either
male or female.

Leech, tapeworm and earthworm are bisexual organisms, organisms that can produce both gametes.

PRI THIATT ST BT ITER0T &, ForaepT 31 & S U8 et Ve TR $T JAS Uar X AHdT &, R T Ja|

Siter, 2ua 3k Sgan vafadt Sha €, ¥ Sfta S At e et O T §

15. Which structure in the plant carries the male organ?/ Gt &t &I It TREAT TR 3T BT RUT HAT 872
a) sperm/ 1Yl

b) ovule/ di5TiE

c) pollen grain/ WITHTR

d) spores/ SISTULaAT

The pollen grains carry the male organ. Mostly the male organs are the motile gamete while the female organ is
stationary.
It is necessary for the male organs to be small and light for easy propagation by the environmental agents.

RIT HUT R 3T BT o ST & | VDR R 377 faeiie Troes g & STafe arer e 2k 8 &
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qOieRufTg Tlel gRT ST & TR & fav g 3T &7 BieT 3R godl EHT a9 ¢l

16. Zygote divides by
a) mitosis/ TATUTSH
b) meiosis/ TEREFITaUH
c) fragmentation/ faws+
d) sporulation/ TFALH

______ R fawTfSa §law Sngfora SieTmo] s=marT 21

Organisms having haplontic lifecycles, zygote divides by meiosis to form haploid spores that grow into haploid
individuals.

Formation of zygote forms the vital link, ensuring continuity of the species.

SO Sftaass aTet Shal § raaet AT grT v glaw snyfora SiST] sHraT & St smyfora safsat & fawsfaa g
gl

TSt T FAuTor dgaqul w8 a9ar 8, S yonfagt & fAiarar gRfga aar

17. In flowering plants, where is the zygote formed?/ gsfta ttelf & o=t &1 fAAT0T F&f €T 872

a) Ovule/ §iStis

b) Pollen tube/ WRNT et

) Anther/ @RIT-HIeT

d) Stalk/ €3et

In flowering plants, the zygote is formed in the ovule. The pollen tube is a mode of transportation for the
pollens that lay on the stigma, to the ovaries. Anther consists of pollen grains (male gamete).

18. Syngamy is defined as:-

il &Y 38 wR i faar mar 2:-

(a) The fission of one eqgg. / T 318 &1 fads|

(b) The fission of one sperm. / U& 1] HT fadsa

(c) The fusion of one of the sperm with an egg. / U& 373 & ATY YHTU H T UH &I Hedd

(d) The fusion of one of the sperm with a synergid. / U& hTU] HT T TefhdT & TTY Headd
Oocyte

Female
Male Spermatozoon

Q\\;@ @\;@ ﬂ

\ ¥

Isogamy: Heterogamy: Oogamy:
different different different
genotypes size motility

Figure 4.4. Three types of syngamy.

19. forms a common passage for both urine and sperms in human males.

AT GeuT # o 3R 1] S & fAT ves ararg ant s 21
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Oviduct / 3nfasae

Ureter / ¥R

Urethra / Izramf
Vas deferens/ ard ST

a
b
C
d

- -

(
(
(
(

= —

Sperm duct

Seminal vesicle

/ Rectum

S ———  Prostate
gland

Urinary

bladder ———__£~

Urethra

Urethra
Penis '/ \

Testis Scrotum

Cowper's gland

Epididymis

20. A motile germ cell is called a/an-
T Tfaefiet ] AT Y FeT ST &
(a) Gamete / grHS

(b) Male gamete / R giH®

(c) Female gamete / AfgaT gas

(d) Isogamete / AR

21 If is involved, even greater diversity will be generated.

________ fAe 8, 3R off a7fas fafderar Seaw gnfhy
a) Sexual reproduction / T Tof

b) Binary fission / Srg=¥ fadsa

) Vegetative propagation / a=Rufd TR

) Asexual reproduction / 3Tl T

(
(
(c
(d

22. What of the following is primary sex organ in man?
s B fRgfaftad o @ wrafie i s T 87

(a) Prostate / uiRee

(b) Testis / ¢Rex

(c) Vas deferens/ arg 3w

(d) Seminal vesicles / affFer @

23. Which part of the female reproductive system prepares itself every month to receive and nurture the
growing child?

Fgd T P YT IR 31R ITST UTAT-TIN0T IR & TAT AT TS ToTed) &7 i 97 2T &R 7éN [e & dUR aRar 872
(a) Cervix / Tyierg fiar

(b) Uterus / Tyiera
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(c) Vaginal / 7
(d) Ovary / 3fsTerm

uterine (fallopian) tube suspensiryliganent ol.ovary
A ligament of ovary

ampulla .
5’ isthmus

intra-
mural

ovarian
medulla

infundibulum

endometrium il N L
/ fimbriae
myometrium
) cervix
ovarian
cortex mesovarium| proad
mesosalpinx |'?3Te”t
. of uterus
ovary mesometrium
round ligament of uterus
012 Encyclopaedia Britannica, Inc. vagina uterosacral ligament

24. Implantation is the process of:

TRIRITUT 6T ufehar 8

(a) The development of a child inside the mother's body / #f & R & 3R U o= HT I
(b) Attachment of zygote to the lining of uterus / rA-ST &7 THIT & 3R I 3191

(c) Nutrition from mother's blood through placenta / T¥cT & HTenH J Hi & Th § W07

(d) Developing an embryo and its nourishment / T& YT 3R 39S TINUT T faSTH FHAT|
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DAY 1
Zygote

Cleavage
DAY 2
2-cell stage
[ DAY 3
S-uII“ slage DAY 5
Blastocyst

Lgg cell nucleus

Inner cell mass
0 DAY4 |\

A .\/Io"mlz\

Sperm cell Tucleus DAY 6-7
Zona pellucida

Secondary
Sperm cells— follicle
Late-stage

DA_Y 0 Qe33O blastocyst
Fertilization S % (hatching)
e DAY 89
__Implanted
blastocyst

__ Primary
follicle

7\

|
Developing

corpus luteum Corpus albicans

Corpus luteum Ovarian ligament

25. The prostate gland is present below:
(a) Bladder / wzmerg

(b) Kidney / wzT1™@

(c) Scrotum / Thlew

(d) Penis / f&m

Ureter

Seminal vesicle

Ejaculatory duct
Prostate

Penis
Urethra

Corpus
Rectum cavernosum
Anus
Testis



(
(
(
(

a
b
d
d
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Connective tissue / TS FHdd
Gland / %ifX

Membrane / 2ot

Muscle / igaeft

27. The embryo gets nutrition from the mother's blood with the help of a special tissue called:
YOI Y T AT T 6 Tgradr A 77 & b A Nwor e & O Fer ofrer @
(a) Uterus / mafera

)
)
)

(b) Placenta / wider
(c
(d) Fallopian tubes / thaifoas o&

Cervix / Tuferg far

Maternal blood
Uterine artery supply in
Chorionic villi and vein intervillus space

|_— Placenta
— Yolk sack

— Amniotic fluid —

Q

— Uterus

[ Chorion —

I~ Umbilical cord ~

™~ Amnion
Umbilical Umbilical Placenta
vein artery

28. The eqq is carried from the ovary to the womb through:
33 &Y 3fsTery A T 7F W ST ST &

(a) Cervix / Tyierg et

b) Vas deferens/ ard 3w

(
(
(

d

)
)

¢) Oviduct / 3nfdsae

Uterus / Tafera

—— Uterus
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Journey of an Egg

Step 3: |
fertilised egg | B
divides eig t cells
— uterus
I‘ . ™
é) sperm Iﬁlkl)c;plan
1@ 4 \ ovary
@j;o 4 NSk~
P W : C=>
\ . NS Ye—L==)
N - Step 4:
QR cells attach
to uterus
| QI egg one cell
nucleus
Step 1:
ke egg leaves
Step 2: ovary.and enters
sperm enters egg and nucleus fallopian tube a
unites with nucleus

29. Name the organ where the embryo develops:
I 3T FT ATH FATEN ST&T YUT A ghar &:

(a) Uterus / afera

(b) Fallopian tube / Sefifoe ega

(c) Ureter / Srefome =@

(d) Cervix / mrafera thar

Day 1: fertilization Days 2-4: cell division
takes place

Days 4-5: blastocyst
reaches uterus

Ovulation

Egg Days 5-9: blastocyst
implants
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FETAL DEVELOPMENT

e ©

8-cell stage

4-cell stage . S
16-cell stage

2-cell stage

Foetus
(5 weeks)

Foetus
(10 weeks)

Foetus

Foetus (20 weeks)

(a) Urinary Bladder / 5 HATI™
(b) Ovary / 3fsTerm

(c) Vagina / @fa

(d) Scrotum / Tpied

31. Sperms are produced in _______ /IPTULST T JedTed _______ HEare
a) vas deferens/ ard SHT

b) vasa efferentia/ araT Tof~ear

c) rete testis/ STl guUT

d) seminiferous tubules/ dufcTeed Afa®TT
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Seminiferous tubules are lined by spermatogonia and Sertoli cells. Spermatogonia undergo meiosis to produce
sperm that are nourished by Sertoli cells./ AT IASTT YHTUT 3R TeTa HIfABI3T gRT Ufthag gl 2l
AT HTU] T IedTeT TR & fAT STeREAfIvTsT & orar & S Teiall SifawTsi grT qifvd gar 81

a) Sperms and RBCs/ [Ty 3R IR

b) Sperms and Blood plasma/ 1] 3R T TTHT
c) Sperms and seminal plasma/ 0] 3R & wireHT
d) Sperms and WBCs/ &) 3ik WBCs

32. The major constituents of semen are and / 9 & ugwE geh 3R g

Sperms are released out from seminiferous tubules facilitated by seminal plasma composed of secretions from
epididymis, vas deferens, seminal vesicle, and prostate./ 1] TfUEif3fiw, a fethiw, afaa afliea sk iee &
J1a ¥ T AT TeHT gRT G di afdarsit T areR fAdad gl

Anatomy of Male Pelvic Area

Seminal
Vesicles

Bladder

Prostate Anus
Penis —(
Urethra e !'ens

A Epididymis

\.. Testis
‘ Tunica Vaginalis
Scrotum
33. Fertilization results in the formation of a:
=T & uRumREsy §9T &:
(a) Ovary / 3isRI™
(b) Germ cell / 575 3aT
(c) Gamete / gTH®
(d) Zygote / grAat
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Uterus Fallopian tube
Zygote

N\ Blastocyst

= 0O,
{ N S
@ @), 20 o Egg
Ovary
- )
Implantation

34. Which of the following is a reproductive cell?
RufafEd & & S T Ut AT 872

(a) Gamete / e

(b) WBC/ ssegaitat

(c) RBC / emefieft

(d) Lymphocyte / forpiarse

35. What marks the onset of puberty in females?
afgerait & daT 6t gard 0T g 272

(a) Menopause / FAghRT

(b) Adolescence / fareTRTaerT

(c) Menarche / A9

(d) Menstruation / AT enf
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Menstrual Cycle

Ovulation

l "\ Fallopian Tube

g cal___ X
Wil S\, ga‘ L Uterus
]'1 W\j- |!-— Vagilr:a

Endometrium |

(Lining of the Uterus) ]!:/Menslrual Flow

36. What is the process of production of ovum in females called?
afgerait # f3s & Ieare &6 ufhar & a1 ST STaT 872

(a) Oogenesis / e

(b) Menarche / A

(c) Adolescence / faemRTa=T

(d) Menstruation / A1fas ud

37. A newborn baby is fed with the first secretion called colostrum from the mammary gland. What does
colostrum impart?

U AaaTTd fRIY] &Y T U T Hreied A0S UgaT J1d RISTIT ST 8| SIcRgH T U avdT 87?2

(a) Factors for growth / 3f& & dR&

(b) Immunity / 0T UfaRUS &dr

(c) Sleepiness / dgr

(d) Nutrition for development / fd&m™ & faw grwor

38. Fertilization of sperm with ovum takes place in:
STETU] & AT BT T (8= BT &:

(a) Uterus / mafera

b) Cervix / Taferg ar

c) Fallopian tube / oo =&

d) Ovary / 3SR

(
(
(
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Fertilization

Uterine Ovulation

A

Uterus

Endometrium

39. Birth control pills contain:

STV faaror &1 et & enfie &

(a) Progesterone only / &ae TSR

(b) Estrogen only / &ae TgreiH

(c) Mixture of progesterone and estrogen derivatives / WO 3R wgio siafea &1 frsror
(d) Neither progesterone nor estrogen / = df TIoReIH 3R 7 & wgiom

40. Being started maturation of reproductive tissues, body growth generally decreases. This state of

adolescence is called .

Independence / IadadT
Maturity / qfgeradr
Puberty / @as
Menstruation / ATfA&® av

- -

b

C

4l ___________ is the name of the age during which the reproductive organs of human males and females
become functional, the gonads start producing gametes and sex hormones, and become mature towards human
sex.

___________ 3T 3 &7 AW & f9ad SR A R 3R A1eT & wor 3T fasanefiet € S €, MATs gie otk Ay gmie
BT IcTTe F IR d & 3R AT Ja9 & faw uRuaa & ama €

(a) Sexual reproduction / T T

(b) Gametes / gHs®

(c) Parthenogenesis / grdFIoRAT

(d) Adolescence / faeTRTazaT

42. The germ cells that store food for the fetus are called

YUT & AT WIS BT HSRUT IR Teil INTTU] HIABTT
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(a) Oocyte / sanddle

(b) Zoogmate/ SiHe

(c) Spermatocyte / THEATES
(d) Homozygous/ M

(a) Ureter / ¥&x
b) Testis / eRea

(b)
(c) Prostate gland / WiRee Ufa
(d) Scrotum / Tpied

44. Why do men have testicles outside the body?

QT & IR & IR SSHIT 4l Ed 87

(a) Due to the presence of spermathecal / {JeT0] $t IuRAfT & HROT

(b) Sperm formation requires a lower temperature than normal body temperature. / &T0] fAHT0T & faw R &
T AT9HT &7 JoA=T § &H aTgaTT BT Saegdsar gl 2

(c) Sperm formation requires higher temperature than normal body temperature. / 0] & AT & faiw IR &
T[T ATGHT F 1A ATaH & STaLgear gl 21

(d) Due to the special tissues found in parts of the stomach. / 3T & $& Rl A U I aTel fA9Y Fas! &
HROT|

45. serves as a nutritive tissue for growing embryo.

________ Fed YUr F T Uivs Fas & ¥4 H S T 2
Ovule / 3fSTHR

Ovary / 35131

Endosperm / TSra#

Zygote / e

46. Name the tube that originates from male testis and carries sperm into the body?
3T TF BT A0 FATSV ST G3Y guor F Aderd! & 3R o) & kR & o Jredy 272

(a) Epididymis / Tfodifsfoa

b) Seminiferous tubules / 3fafA R afa@wme

(
(c) Urethra / TaaTRT
(d) Vas deferens / arF 3w
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Pubic bone Bladder Seminal vesicle

Rectum

Corpus
cavernosum //27

7 ) Ejaculatory
( / v G duct
Corpus \\ ]
spongiosum \ N Prostate
—==\. 0 ¥ 4 gland
Penis e
—~— ~= \I. Bulbourethral
Urethra gland
Anus

Foreskin — ) {\
L i Vas
Glans /

\ deferens

Epididymis
Urethral Testi picicy
opening S

kS Scrotum
Seminiferous tubules

(a) Fallopian tube / ShelifaT &g
(b) Epididymis / Tfugifzfam

(c) Bladder / e

(d) Vas deferens/ ag ST

48. Which of the following is a male reproductive part in human beings?
fafafea § & $9 7ma § Ry 3T §2

(a) Vas deferens / arq 3w

(b) Uterus / Tyiera

(c) Fallopian tube / Sefifas eg&

(d) Ovary/sistera

49. Which of the following is not a part of the male reproductive system in humans?
Rofafad d @ o7 agwl § o us= gorel &1 fawar 78 272

(a) Scrotum / &pieH

(b) Ovary / 3fsTerg

(c) Testis / ¢Rex

(d) Vas deferens/ ag ST

50. The child is born as a result of rhythmic contraction of musclesin __________.
S BISH __________ B Aiafel & Fueg IFa- & URUTHGET gidT 81

(a) Cervix / Tyierg et

(b) Oviduct / 3ffasae

(c) Uterus / Tviera



REPRODUCTIVE SYSTEM- SEXUAL AND ASEXUAL, HUMAN REPRODUCTION/

(d) Vagina / @fa

51. Uterus opens into the vagina through:-

i df ____ o gerar 8:-
(a) Fallopian tube / ShelifaT &g
(b) Vas deferens/ arq 3w

(c) Urethra / TaaTT
(d)

d) Cervix / Tyfery ar

Fallopian Tube Uterus Fundus Uterine Tube

S 9

/ \ \\ Endometrium
Fimbriae Ovary

Myometrium

Vagina — Cervix

y

)

52. Female germ cells or eggs are made in the-
T NITO] YT TT SfT0 i T £2

(a) Cervix / Tyierg et

(b) Vagina / @ifa

(c) Ovary / 3fserm

(d) Uterus / Tviera

53. The cavity of the graafian follicle is called-
TR T &Y T[ET B HET SATT &

(a) Antrum / WeH

(b) Amniotic cavity / TafTIfe® T&T

(c) Liquor folliculi / foiaR wifaiger

(d) Discus proligerous / fS¥@a Wifaera

54. Which of the following is not a part of the female reproductive system?
Rufafad & 3 S afeaT us== wormedt &1 fwar 7€ &2

(a) Ovary / 3iseI™

(b) Uterus / Tyiera

(c) Vagina / @ifa

(d) Vas deferens / a/& deferens
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55. Which human body part carry eggs from ovary to uterus?
T YRR T S TT 30T ST F MU da 313 o ST 272

(a) Ovaries / 3=’

(b) Fallopian tube / Srefow o=@

(c) Vagina / @ifa

(d) Penis / fam

56. What is the method in which Copper-T is placed in the uterus called?
Tyferg & HTR-E @ i fafer ar g 82

(a) Copulation / #gT

(b) Contraception / TfeRTers

(c) Conception / e

(d) Fertilization / 8=

57. In which part of the male reproductive system is the main genetic material found?
QoY TS JOTTe! & fas o & TReg Srrgafes ueref uram Srar 872
(a) Ureter / ¥&x

(b) Sperm / <Jh1U]
(c) Prostate gland / WiRee Ufa
(d)

d) Scrotum / &hieH

58. Labor pain is caused due to contractions in walls of
TEa ST o _____ & Rt & T S HROT &Y B
(a) Gene release / S Rader

(b) Ovary / 3fsiera

(c) Uterus / THiera
(d)

d) Lower abdomen / Be & fAga fad

59. Where is the production of mature sperm?
IRUST EHTU] BT IUTe HEl 8T &2

(a) Testes / guur

(b) Scrotum / TpieH

(c) Seminal vesicles / Afte dfd&HT

(d) Prostate gland / URee UfY

60. The development of the child (in the case of humans) takes months approx _______ inside the mother's
body.

T & Ao (Agsat & e #) ® A & RR $ Sia ahrHT
(a) o

(b)
(0)
(d)

7
10
8
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Photosynthesis / U1eT HHWUT
Transpiration / arsaTcTsi=
Fertilization / 8=
Pollination / QrmoT

62. In humans, the fertilized egg is implanted into the lining of
F SRR # TR favar ST 2

Vagina / @i
Uterus / Tafera
Cervix / Taierg Iar
Ovary / 35131

(a) Inherited / farmaa & AT
(b) Changed / S&ct TaT
(c) Modified / Tenfaa
(d) Less / &®

64. Which of the following is a work done by placenta tissue found in humans?

Tyt # UTT 9N aTe el Fad grT Rufafad & @ &9 a1 ot far Srar 82

(a) Support the embryo. / YT &T THLT H

(b) Provide the nutrition to the embryo. / YoT &I GINUT U&H $|

(c) Removes waste matter from the embryo and provide nutrition to the embryo / 4ur & 3ufere et fAdreaar &
3R YOT Y YT T AT B

(d) Remove of waste matter from embryo. / YoT & 3TUfe yard & geT 3|

(a
(b
(c)
(d)

Zygote / giHS®
Egg / 3fsT
Womb / T
Sperm / [eT0]

- —

66. Identify the part of the male reproductive system that forms a common passage for both sperm and urine.
TN ST YU & 39 TR &Y ugam ¥ St ep1v] 3R 1ot @Y & fiw ves A= /et a1 21

(a) Uterus / vierr

(b) Vas deferens

(c) Scrotum / Thlew
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(d) Urethra / ©hleH

67. Which of the following statement is true regarding cleavage?

WR &S Jay & PufafRa d o o sua g 22

(a) The size of embryo decreases. / YUT &T 3THR HH &F SATAT 2

(b) The size of embryo increases. / YUT &T 3MHR FgaT &

(c) The size of daughter cell increases. / FHafd HIfAFT FT IMHR FedT 2|
(d) The size of daughter cell decreases. / Tdafd HIfABT ST MHR TedT 2|

68. The secretion from the prostate gland enters into the:
TRee Uy F g1g # vaer gar &

(a) Kidney / forst

(b) Testis / ¢Rex

(c) Ureter / &R

(d) Urethra / Txe&x

69. Changes the appearance seen in boys during puberty:
Tia & IR gt # fawaré & arelt Suffa & afad:

(a) Prolactin / Wetfae

(b) Adrenaline / T3ATATSS

(c) Estrogen / T&IGH

(d) Testosterone / TR

70. Menstruation is indicated by the bleeding through vagina due to:
AR o T Fba A F THATE S SR EHT 8

) Bursting of sperm / {IehTU] T TheAT
) Bursting of ovum / f$§ &7 wear
Breaking of the lining of the uterus / 9T & 3R PT geAT
Breaking of the walls of the vagina / T &I faRT &7 g

a
b
d

(
(
(
(d

)
)

80. Vas deferens is attached to the tube through the bladder to form a common passage, called the

I 3% o I AN S & fAU e S Arem A ew A Ser e, o ___ HET ST &
(a) Seminal vesicles / ¥ftme afl@eT

(b) Urethra / TaATT

(c) Testis / ¢Rex

(d) Ureter / ¥e?

8l. How many testicles does a male have?
T G & fabe sy g 82

(a) Two

(b) One
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(c) Three
(d) Eight

82. In some females, due to some problem, freshly released eggs and sperms are kept together for few hours
for fertilization to occur fertilization cannot take place. In such cases, outside the body. This is called:

T ATeTsit # Tl THT & FRUT $B Tl & fAv v 313 3R Yo1v] Ua a1y [ o1 & foad At 7€) € urar {1 9@ aret
#, ¥R & STeR| Tg el AT &:

(a) Regeneration / 3e¥

(b) Fertilization / &=

(c) Vegetative reproduction / g=¥afd TS+

(d) In vitro Fertilization / & fagr GidaTgsier

83. In sexual reproduction, the parents contributes:
T g o, Arar-faar e a8

(a) Three-fourth of its genes / 38 d9-dtaTE ST
(b) Half of its genes / g8 38 Sfiv

(c) One-fourth of its genes / $9& TS dTUTE A

(d) All of its genes / 58 Tt 59

84. What is the name of female reproductive cell?
HIGT U SIfRIST ST T 1 872

(a) Egg / 3fsT

(b) Sperm / <Jh1U]

(c) Ovule / 3igTHR

(d) Ovary / 3fsTerm

85. Match List-1 with List-1l and select the correct answer / I&1- || & I1 - | & WA H TET IR |

List-1 / g=t- | List-11 / 3g=1- 11
A. Female gamete/ HTeT grH® 1. Zygote
B. The fusion of male and female gametes 2. Gonads
TR 3R OTET graH! BT g
C. Result of the fusion of male and female gametes 3. Ovum
TR 3R OTET graH! &S T ST gRomy
D. Germ cell Produce from/ s+ ST & Iedre g & 4. Fertilization
ABCD
(a)4123
(b)3412
(c)2341
(d)1234

86. In female, a small portion of oviduct is removed and cut end is ligated by surgical operation is called / #TaT #,

fRaarfe & v B G &1 get four ST § 3R afSiad ifue™ gRT ¢ gU ik &1 s faar smar @
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a) vasectomy/ a¥aeHT
b) tubectomy/ esereTHT

(
(
(c) neurotomy/ =RIerHT

(d) None of these/ 1H 4 HIs &1

87. In the human body, Cowper's glands form a part of which one of the following?/ #d SRR #, HIIW & UfATi
fafafea § & frae we fewm &2

(a) Digestive system / UM do

(b) Endocrine system / USiwred fiweq

(c) Male Reproductive system / G&§ TS+ UUTTei!

(d) female reproductive system / AfZaT WS+ ToTTe!

Cowper's glands, also known as bulbourethral glands, are two pea-sized glands in the male reproductive
system that produce a pre-ejaculate fluid. They are located below the prostate gland./ SRWR Ufaf, o

Fea gy Ut & w0 F off ST ST 8, TOW U YUnTel! § & HeR & STHR 6 Uit € St Ve ¥ Ugdt @Rl ueref &r
IaTed el €13 MRe 1 & M @I B &,

Ureter

Urinary bladder

Ductus
deferens

vesicle . .
Prostate Ve ,
gland ‘ s g

Bulbourethral \ I\ { bone
gland -

Glans penis

b

Anterior view Sagittal section
The male reproductive system has three accessory glands: / & Usi=- WUl # o9 TeTas Ufdat gt &

®  the prostate gland/ WRec Uf¥ - A walnut-sized organ located below the bladder that produces fluid that
mixes with sperm to form semen/ TR & i< AT TP 3RRIT F SHR $T 37T AT TRA Y& BT IedTa DT & AT
1Y) & AT e dif s &

= seminal vesicles/ 91 gfesT - A pair of glands located behind the bladder base that produce fluid that makes
up semen/ TR & YR F U6 T UFATT 6 U ST I TRA TaTe HT ST Il ¢ foresy a1l &

Scrotum
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®  bulbourethral gland/ Seargyya %#fA/ Cowper's glands/ HTIW UfATT - A pair of pea-shaped glands that de-
acidify and lubricate the urethra during ejaculation/ AeR & 3THR &t UfATT H Ta TS Y Ra@ & SR AATT BT
- 3rcfipa 3R T et &

These glands secrete fluids that create an environment for sperm growth and maturation.

T ATt R yerd TIfad avet & Y op10] & fadry otk uRuagdr & faw arararor sardt €

88. Fertilization in human takes place inside
uterus/ THTRR

oviduct / fsarfe-t

ovigland / fSswif2r

None of these / &% & PI$ &l

(a
(b
(c
(d

_ ~ = —

® The fallopian tube, which attaches an ovary to the uterus, is where fertilization takes place.

= ST ogE, S S o Ui A e €, 9 SivTe @ Stet Rt=e 1T 21

" |tis also known as oviduct./ s& f¥garfaht & a7 & off ST STaT 21

" ltis differentiated in four different parts that is, isthmus, ampullary, infundibulum and fimbriae./ T IR
STeTTT- ST T # fafee fasar Srar &, srufq, sy, wger), shi3gay ik fsfisa

®  When the process of ovulation gets completed the ovum comes out of ovary and is received by fallopian
tube./ S8 3NSTAY T UfHaT I &Y SITT & 7Y 3STU] 37T A ST6R 31T & 3R el fUaT e« gRT UguT favaT ST 21

® Here, sperm enters and fertilize the ovum hence the process of fertilization occurs./Jg, ep1o] 39 & gaer
T & 3R e a=ar € safaw fAv=w o uftsar gt 21

89. Sertoli cells are present in/ TETd! HIFABTE TTH HISE T &
(a) male reproductive system / G& USi-= OTeT

(b) female reproductive system / TfgwT U= TOTTe

(c) Both (a) and (b)/ @ (a) 3R (b)

(d) None of the above / IWIh & A &I T8l

The Sertoli cells are normally located in the male reproductive glands (the testes). They feed sperm cells. The
Leydig cells, also located in the testes, release a male sex hormone./

HETol! HIABTY AT ToN Uoi UfAaT (qwor) # F=a gieft €1 & ep1o] A1 B oy A &1 AT A1y, St guor d
ot fd gt &, U qoW Qg g S el B

90. What is a test tube baby?

T I IS T T R?

(a) Fertilization of the ovum occurs in the uterus, but develops in the test tube. / T35 &7 faa= mafera & €ar g,
AP e oge o fasfad g 1

(b) Fertilization takes place in the uterus and embryo develops in the uterus. / f8== mufera & grar & ik yor
Toferg # fae e g @

(c) Fertilization of ovum takes place in the test tube and develops in the test tube itself. / 3§ & 8= TRa=ell
H graT & 3R uRawe # € o faa g 21
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(d) Fertilization of ovum takes place in the test tube, but it develops in the uterus. / 3§ &7 8= ¢&¢ ey & glar
2, of 7g iy # faefad g 21

91. Amniocentesis deals with patterns of ______ in the amniotic fluid./ TAffORT waffaifed ga & ______ &
et I Heife 2

a) fingers/ 3TTeil

b) DNA

)
c) chromosomes/ TURTAT
d) proteins/ WM&

The chromosomal pattern in the amniotic fluid is detected using the technique called amniocentesis.

This chromosomal pattern is called karyogenesis and can be used to detect the nature of chromosomes. Hence
it can be exploited to determine sex of the fetus.

AT 906 d6-16 ST ITTNT ad THHIed gd § URE ted ST udT it ST &l

T U Yo &1 SRASARAT FeT STaT & 3R STHT ITGNT URGAT &t Tehfar &7 It o & for fasar S aesar 21 safee
ST IUTNT YUT & oitr 7 Prerfor e & o far S g 21



